Crossbraces & Hardware

e LD A Side Frame shown
~_ ¥ for reference only




Crossbraces & Hardware

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 1029501 Plug Button, Black (1") 1 4
2 1055348 Screw, Hex Head (1/4-28 x 1-3/4") 1 2
3 A 1046501 Link, Pivot, Black (14 - 15" W) 1 2
3 B 1012173 Link, Pivot, Black (16 - 18" W) 1 2
3 C 1018238 Link, Pivot, Black (20 - 22" W) 1 2
4 1025730 Locknut (5/16-24) 1 1
5 1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 2
6 1016263 Spacer, Coved (3/4 x 1 x 1/2") 1 4
7 1016301 Washer, Nylon (5/16 x 7/8 x 1/8") 1 1
8 1025705-NLA | NLA - Screw, Hex Head (5/16-24 x 3-1/4") 1 1
9 1065362 Locknut (1/4-28) 1 8
10 1012172-NLA | NLA - Clamp, Saddle 1 2
11 1026907 Washer (1/4 x 1/2 x 1/16") 1 4
12 1055298 Screw, Hex Head (1/4-28 x 1-5/8") 1 4
13 1012180 Bracket, Pivot, Black 1 2
14 1055347-NLA | NLA - Screw, Hex Head (1/4-28 x 1-1/2") 1 2
D See Chart Crossbraces without Hardware 1 1
NOTE: A - 14" Wide
B - 16-18" Wide
C - 20" Wide
D - Not Shown.
Crossbraces without Hardware
Depth 14" Wide 16" Wide 17" Wide 18" Wide 20" Wide
16" 1046107-NLA 1016250 1037547-NLA 1016251 1038381-NLA
18" N/A 1053344-NLA 1053345-NLA 1053346 1053347




